1

D 3+4 @ 3x ® 30 =40
1

@g ® 0.75

@3+ :%

1 X1
®3XZ:37_4§1
®30+40:%:§1

4 1
@§=1§
®075=-0 -3




60°N\

A80°

~-9cm- -

Z7Tcm

o)

‘_HH

)

Tod

o

NIl

‘_ll”

CRNG)

E o

® o
o W
wﬂW%omMmH
p M
AN W
,n__ou7_.:,_ lmon
ﬂodﬂmﬂo_aﬂo
=0 N mo
Wn_mﬂew_.m
M o0 %8

of H H ol
B R R o o
T U T R AW




o] =

SHALL.,

<]

A 7

=
1

uj7} 5|

o' £E4 2 JHoHy 2

o
=2

3.

0 b=




TS LPelo] A4 02 SHLE A o] A7

3.72+12
® 31+4+12=372 @ 31x12=3.72
® 3.1x12=23.72 @0.31 x 12 =3.72

® 0.031x12=23.72
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3.72+12=10.31
U Z]71 0 91 WAl o] HabAl 2

(F)x (Hre ) = (HFolAle &) dYth
wabA 3.71 + 12 = 0.31 &) AAMALS

0.31x 12 = 3.72 YU},
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112.8 + 16
@ 750x 16 =112.8 @ 75x16 =112.8
® 75x16=112.8 @ 705%x16=112.8

@7.05 x 16 = 112.8

B

112.8 - 16 = 7.05
U271 091 YAl o] HAkAl2

(B)x (FrE 5) = (FrolAE 5) dutt
wabd 112.8 « 16 = 7.05 2] AARALL

7.05% 16 = 112.8 JU T},
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@ 129+15 @ 41.67+9 ® 1462+ 34

@)19.68 ~ 4 ® 38.88+9
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D 12.9+15=0.86
@ 41.67+9 =463
® 1462 +34 =43
@ 19.68 ~4 = 4.92
® 38.88 +9 =4.32




2oyl 3.2ha 9] =0l A & 5.6t & AT, WIFHlE 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
2 kg ¢ §5U7?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)

wrakA] 97y 7} 1a T AJALEFO]

17.6 —17.5 = 0.1(kg) & @5t
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13. ©J® HA7} 5km 600m S 7H= ©] 6L 9] 44718 a5t
Zowzr)2 9 uf 41 500mL o] A42E @ km S 2

)

14 3 9
@ @km @ Z;ﬂn ® 25km
@)4zkm ® 6km

B

IL 225 e ARE 18 5
AL 500mL 2 Z &= 9l A Fgyrh.

600 3
k =5——km=5-k
okm 600m = 51000 55 m,
500 1
4L 500mL = 4——L =4-L °|BE &
ml. = 47500 = 431 !
Vs
3
3 1 286 1. 9 21
br+bxdg="5x x5 ="2=4z(k
57077 5 gg (km)
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Hlo] Ql= WEO] A7} 500g o]2tH, A= 15 A2 "l“7ﬂf 2 kg
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= -ty b R stl | Sf/d
AA(A)[ 84 [ 7292 ] 96 | 80 | 76 | 88

® 964

(afi/g ol E2] &A)

= 844 72+ 92 + 96 + 80 + 76 + 88 = 588

ool e [t st
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